with(plots) :

plot([x,x —3,2,4],x=0..8,y =0..5, thickness =3, legend = ["y=x,
"y:X— 3!!7 ny:2v; uy:4n] )’
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implicitplot([x=0,x=1,y=2-x,y =3-x],x=-0.5..1.5,y=-0.5
..3.5, thickness =3, legend = ["x=0", "x=1"} "y=2x", "y=3x"], color

= [blue, green, magenta, cyan |);
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plot( [x, xz], x=-1.2,y=-1.2, thickness =3, legend = ["y=x",
yxe21);
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implicitplot[ ,x=-0.5

y=0,y= sqrt(%),x =y,x= Sqrt[%]
1.5,y =-0.5..1.5, thickness =3, color = [blue, green, magenta,
cyan |, legend = ["y=0", "y=sqrt(Pi/2)} "x=y""y=sqrt{Pi/2)"]);
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implicitplot( [x = yz, x= 4-y2 — 3], x=-3..5,y=-2.2, thickness
=3, color = [blue, cyan ], legend = [ "x=y"2! "x=4yA2-3ﬁ);
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implicitplot.?d([z=x2 ~|—y2,x +y=1,x=0,y=0 ,z=0],x =0.2,y
=0..2,z=0..2, numpoints = 10000, color = [ blue, green, grey,
grey, grey|);
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0,x=0.2,y=0.2,z
[blue,green,grey]);

2,x+y=1,z=

x2+y

implicitplot.?d( [z

..2, numpoints = 10000, color
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implicitplot( [x2 + y2 =1,x> + y2 =4,y= |x|],x =-2.2,
thickness =3, color = [ blue, cyan, green ], legend

y==2.2,

= ["x"2+y"2=1") "x"\2+y"2=4') "y=|x|"], numpoints = 35000);
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implicitplot( [Xz + y2 =4-x, X+ y2 =8x,y=x,y= 2~x],x =0.8,y
=-4 .4, thickness =3 , color = [blue, cyan, violet, orange |,
legend = ["x"\2+y"2=4x] "x 2+ y"2=8x "y=x, "y=2x"],

numpoints = 35000);
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implicitplot( [xz + y2 = 1,x2 + y2 =x,x=0,x= 1],x =-1.1,y=-15
..1.5, thickness =3, color = [ blue, cyan, magenta, orange ],
legend = ["x"2+y"2=1") "x"2+y"2=x", "x=0", "x=1"], numpoints
=35000);
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2.2,y=-2.2,:
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implicitplot3d( [z




plot( [xz, — xz], x==2.2,y=-1..3, thickness =3, color = [green,

2
blue ]),




0],x=0.12,y=0
[blue, grey, green,

=y,z

=0,x

.1.2,2=0..1.2, numpoints = 10000, color

implicitplot3d( [xz + y2 + 2= L,x
grey|);
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